IECSRGBuU9 triangle lightnesst*

t* Ync=Yw nc=100,

*1EcsReBUS=50 (Y/Y) Y12 (Y, =18, ¥, J100<Y<=Y,)
t*n(8,6)=13,t*,(18)=50,t*y(90)=191

t*9=191, 18v—1 2, 14=1/1,2-0.83
t*16=50,0Q §=50,0Q D,=-0,00
143,6=13,05,t%; R 00 Y=18

log[t*/t* J=0, m,=0,83

IECSRGBuU9
AY tristimulus value difference
Yac=Yw - nc=100,
t*1EcsraBus=50 (YY) M1 2(Y,=18, Y,/ 100<Y<=Y,0)
log(dY) = (1/1,2) log[1,2(/50)] + [1-(1/1,2)] logY)

=50, dY,=2,40 dY,/Y,=0,1333
--u

Iog(dY):Z 40 m=0,ip 8 82"
0%p=3,13,y=1,2, 1f=1/1.2=0 3

dY,g=2,4 A wr==0,00 1
dYs 1,83 Y,=18, dY=2.40

application
1 range

1,518
)

Yn=3.6

log (AY/Y) IECSRGBU9
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
t*1EcsraBus=50 (YY) M1 2(Y,=18, Y, /100<Y<=Y,0)
log(dY/Y)= log[1,2(Y,/50)] - (1/1,2) log{/Y,)
= (1/1,2) log[1,2¢,/50)] - (1/1,2) log{)
>

’0 application
log(dY/Y)-0,87 m,,=-0,33 OQ range
RGN e BT S \331%)

(dY/Y)g=0,1333 §=50,0G D= 1,004,
(dY/Y},6=0,5091 Y,=18, dY=2,4
|Y =18

NS0T

Yn=3.6

IECSRGBuU9
tristimulus value contrast
Yoc=Yw - nc=100,
t*1EcsraBus=50 (YY) M1 2(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= - log[1,2(/,/50)] + (1/1,2) log¥/Y)
= - (1/1,2) log[1,2(,/50)] + (1/;2) logy)
* =50, dY,=2,4Q Y, /dY,,=7

log (Y/AY)
C,=(Y/AY)

(Y/dYy=28,67 y_fz 111—1/1 240,83
(Y/dY)g=7,49 S=5 —0 00
(Y/dY} 1,96 Y, 18 d\(,

application
range

1Y,=18
V=90

Yn=3.6

IECSRGBUO relative triangle lightnesst*/t*,
t/t* u Ync‘YW nc_loox

t*|ECsroBug=B0 (Y/Y,) V2 (Y,=18, Y, /100Y<=Y, o)
t*n(3,6)=13,t*,(18)=50,1*,,(90)=191

Bogt =3, 82 V=12, 14=1/1,2=0,83
gt o ,00 D,=-0,00
3ty =o 26 t,=50,00 Y-18

log[t*/t* ]=0, m,=0,83

IECSRGBuU9 relative
tristimulus value difference

Yoc=Yw  -nc=100,
t*1ECcsraBug=50 (YY) 2(Y,=18, Y,/ 100<Y<=Y, )
log(dY/dY,) = [1-(1/1,2)] loglf/Y,)

log (A YIAY,)
AYIAY,

QYoo dy=130.y=1.2, 1=U/1,20.63
Y;¢/dY,=1,00 $,=50, L)
dYs gdY,=0,76 Y,=18, mg .40

=50, dY,=2,4Q dY_/Y,=0,1333

---l
log[(dYY(dY) =0, m s0mA.®
| application
1 range
y,=18
Yy =90

—";
log [(AY/Y) I (AYIY)] IECSRGBU9 relative
tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY
t*1EcsroBug=B0 (Y/Yy) M1 2(Y,=18, Y, /100<Y<=Y, o)
log[(dY/M(AYY),] = - (1/1,2) log¥/Y,,)

(dY7 N/(GVIY)=0€6,y=1,2, 14=1/1,2=0,83
(dY/Y)p'dY: N=1,0#¥ §=50,0Q D,=—0,00
(dY/Yy (LYY ~3,81 ’13 =240 0 o oo
o
logl(@Y/YY(AYY)I=0, n=-0,33 i%e
*,=50, dY,=2,40 dY,/Y,;=0,335 | ¥,
1y =18
Yy=90

Yn=3.6
log [(Y/AY) I (YIAY),] IECSRGBU9 relative
tistimulus value contrast

CllCu=(YIB)/(YIAY), o 2y ' Vo 2100,

t*1EcsreBug=50 (Y/Yy) M1 2(Y,=18, Y, /100<Y<=Y, o)
logI(Y/dY)/(Y/dY),] = (1/1,2) loglY/Y,)

(YIdY yo/(Y/dY)= 3 82,y=1,2, 14=1/1,2=0,83
00 50,00 D;=—0,00

(Y/dY)g/(Y/dY)=
(YIdYY, (Y/dY o 26 Y,=8, 0%=2, a0,

1og[(Y/dY)(Y/dY),]=0, r¢,=0.53

application
1 range
> 'y,=18
R A
Yn=3.6  Yw=90




